## Bid #F-4568-18-RL - Removal and Disposal of Debris from the Lift Station Wet Wells and the WWTP

Creation Date Nov 21, 2017 End Date Jan 24, 2018 3:00:00 PM EST

Start Date Dec 5, 2017 2:26:23 PM EST Awarded Date Not Yet Awarded

F-4568-18-RL01-01 GROUP A - WET WELLS: A-2							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Hinterland Group, Inc. [Ad]	First Offer - \$450.00	1 / each	\$450.00	Υ	Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$480.00	1 / each	\$480.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
envirowaste services group, Inc	First Offer - \$995.00	1 / each	\$995.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

F-4568-18-RL01-02 GROUP A - WET WELLS: A-3								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Hinterland Group, Inc. [Ad]	First Offer - \$450.00	2 / each	\$900.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$480.00	2 / each	\$960.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
envirowaste services group, Inc	First Offer - \$995.00	2 / each	\$1,990.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

F-4568-18-RL01-03 GROUP A - WET WELLS: A-5								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Hinterland Group, Inc. [Ad]	First Offer - \$450.00	1 / each	\$450.00		Υ			
		Supplier Product Code: Supplier Notes:						
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$480.00	1 / each	\$480.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
envirowaste services group, Inc	First Offer - \$995.00	1 / each	\$995.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

F-4568-18-RL01-04 GROUP A - WET W	ELLS: A-6					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Hinterland Group, Inc. [Ad]	First Offer - \$450.00	1 / each	\$450.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$480.00	1 / each	\$480.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
envirowaste services group, Inc	First Offer - \$995.00	1 / each	\$995.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

F-4568-18-RL01-05 GROUP A - WET WELLS: A-8								
Unit Price	Qty/Unit	Total Price	Attch.	Docs				
First Offer - \$450.00	1 / each	\$450.00		Υ				
Product Code:		Supplier Product Code:						
	Supplier Notes:							
First Offer - \$480.00	1 / each	\$480.00		Υ				
	Supplier Product Code:							
	Supplier Notes:							
First Offer - \$995.00	1 / each	\$995.00		Υ				
	Supplier Product Co	ode:						
	Supplier Notes:							
	First Offer - \$450.00  First Offer - \$480.00	Unit Price Oty/Unit  First Offer - \$450.00 1 / each  Supplier Product Co Supplier Notes:  1 / each  Supplier Product Co Supplier Product Co Supplier Notes:  First Offer - \$995.00 1 / each  Supplier Product Co Supplier Product Co	Unit Price   Qty/Unit   Total Price     First Offer - \$450.00   1 / each   \$450.00     Supplier Product Code: Supplier Notes:     First Offer - \$480.00   1 / each   \$480.00     Supplier Product Code: Supplier Notes:     First Offer - \$995.00   1 / each   \$995.00     Supplier Product Code:     Supplier Product Code:   \$995.00     Supplier Product Code:	Unit Price   Qty/Unit   Total Price   Attch.     First Offer - \$450.00   1 / each   \$450.00     Supplier Product Code:     Supplier Notes:     First Offer - \$480.00   1 / each   \$480.00     Supplier Product Code:     Supplier Notes:     First Offer - \$995.00   1 / each   \$995.00     Supplier Product Code:     Suppl				

ELLS: A-9						
Unit Price	Qty/Unit	Total Price	Attch.	Docs		
First Offer - \$450.00	1 / each	\$450.00		Υ		
Product Code:		Supplier Product Code:				
	Supplier Notes:					
First Offer - \$1,213.00	1 / each	\$1,213.00		Υ		
	Supplier Product Code:					
	Supplier Notes:					
First Offer - \$1,500.00	1 / each	\$1,500.00		Υ		
	Supplier Product C	ode:				
	Supplier Notes:					
	First Offer - \$450.00  First Offer - \$1,213.00  First Offer - \$1,500.00	Unit Price Qty/Unit First Offer - \$450.00 1 / each Supplier Product C Supplier Notes:  First Offer - \$1,213.00 1 / each Supplier Product C Supplier Product C Supplier Notes:  First Offer - \$1,500.00 1 / each	Unit Price   Qty/Unit   Total Price     First Offer - \$450.00   1 / each   \$450.00     Supplier Product Code: Supplier Notes:     First Offer - \$1,213.00   1 / each   \$1,213.00     Supplier Product Code: Supplier Notes:     First Offer - \$1,500.00   1 / each   \$1,500.00     Supplier Product Code:	Unit Price   Qty/Unit   Total Price   Attch.     First Offer - \$450.00   1 / each   \$450.00     Supplier Product Code:   Supplier Notes:     First Offer - \$1,213.00   1 / each   \$1,213.00     Supplier Product Code:   Supplier Notes:     First Offer - \$1,500.00   1 / each   \$1,500.00     Supplier Product Code:   \$1,500.00		

F-4568-18-RL01-07 GROUP A - WET WELLS: A-10							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Hinterland Group, Inc. [Ad]	First Offer - \$450.00	1 / each	\$450.00		Υ		
		Supplier Product Code: Supplier Notes:					
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	1 / each	\$485.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
envirowaste services group, Inc	First Offer - \$995.00	1 / each	\$995.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

F-4568-18-RL01-08 GROUP A - WET WELLS: A-11								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Hinterland Group, Inc. [Ad]	First Offer - \$450.00	1 / each	\$450.00		Υ			
		Supplier Product Code: Supplier Notes:						
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	1 / each	\$485.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
envirowaste services group, Inc	First Offer - \$995.00	1 / each	\$995.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

F-4568-18-RL01-09 GROUP A - WET WELLS: A-12							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Hinterland Group, Inc. [Ad]	First Offer - \$450.00	1 / each	\$450.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	1 / each	\$485.00		Υ		

bid #F-4568-18-RL -Removal and Disposal of

Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
envirowaste services group, Inc	First Offer - \$995.00	1 / each	\$995.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

F-4568-18-RL01-10 GROUP A - WET WELLS: A-14								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Hinterland Group, Inc. [Ad]	First Offer - \$450.00	1 / each	\$450.00		Υ			
		Supplier Product Code: Supplier Notes:						
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$1,213.00	1 / each	\$1,213.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
envirowaste services group, Inc	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

F-4568-18-RL01-11 GROUP A - WET WELLS: E-7								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Hinterland Group, Inc. [Ad]	First Offer - \$650.00	3 / each	\$1,950.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$1,213.00	3 / each	\$3,639.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
envirowaste services group, Inc	First Offer - \$1,500.00	3 / each	\$4,500.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						

F-4568-18-RL01-12 GROUP A - WET WELLS: E-9								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Hinterland Group, Inc. [Ad]	First Offer - \$450.00	1 / each	\$450.00		Υ			
		Supplier Product Code: Supplier Notes:						
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	1 / each	\$485.00		Υ			
		Supplier Product Code: Supplier Notes:						
envirowaste services group, Inc	First Offer - \$995.00	1 / each	\$995.00		Υ			
		Supplier Product Code: Supplier Notes:						

F-4568-18-RL01-13 GROUP A - WET WELLS: E-13									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Hinterland Group, Inc. [Ad]	First Offer - \$450.00	1 / each	\$450.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	1 / each	\$485.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
envirowaste services group, Inc	First Offer - \$995.00	1 / each	\$995.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

|--|

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Hinterland Group, Inc. [Ad]	First Offer - \$450.00	2 / each	\$900.00		Υ	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$1,213.00	2 / each	\$2,426.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
envirowaste services group, Inc	First Offer - \$1,500.00	2 / each	\$3,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

F-4568-18-RL01-15 GROUP A - WET WELLS: E-18								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Hinterland Group, Inc. [Ad]	First Offer - \$450.00	2 / each	\$900.00		Υ			
		Supplier Product Code: Supplier Notes:						
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	2 / each	\$970.00		Υ			
		Supplier Product Code: Supplier Notes:						
envirowaste services group, Inc	First Offer - \$1,250.00	2 / each	\$2,500.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

F-4568-18-RL01-16 GROUP A - WET WELLS: N-5								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	2 / each	\$970.00		Υ			
		Supplier Product Code: Supplier Notes:						
Hinterland Group, Inc. [Ad]	First Offer - \$500.00	2 / each	\$1,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
envirowaste services group, Inc	First Offer - \$1,250.00	2 / each	\$2,500.00		Υ			
		Supplier Product Code: Supplier Notes:						

F-4568-18-RL01-17 GROUP A - WET WELLS: N-6								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	1 / each	\$485.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
Hinterland Group, Inc. [Ad]	First Offer - \$500.00	1 / each	\$500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
envirowaste services group, Inc	First Offer - \$1,750.00	1 / each	\$1,750.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

F-4568-18-RL01-18 GROUP A - WET WELLS: N-7							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Hinterland Group, Inc. [Ad]	First Offer - \$500.00	1 / each	\$500.00		Υ		
		Supplier Product Code: Supplier Notes:					
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$1,213.00	1 / each	\$1,213.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

envirowaste services group, Inc	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

F-4568-18-RL01-19 GROUP A - WET WELLS: N-8								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	2 / each	\$970.00		Υ			
		Supplier Product Code: Supplier Notes:						
Hinterland Group, Inc. [Ad]	First Offer - \$500.00	2 / each	\$1,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
envirowaste services group, Inc	First Offer - \$995.00	2 / each	\$1,990.00		Υ			
		Supplier Product Code: Supplier Notes:						

F-4568-18-RL01-20 GROUP A - WET WELLS: N-13								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	1 / each	\$485.00		Υ			
		Supplier Product Code: Supplier Notes:						
Hinterland Group, Inc. [Ad]	First Offer - \$500.00	1 / each	\$500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
envirowaste services group, Inc	First Offer - \$1,250.00	1 / each	\$1,250.00		Υ			
		Supplier Product Code: Supplier Notes:						

F-4568-18-RL01-21 GROUP A - WET WELLS: N-14								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Hinterland Group, Inc. [Ad]	First Offer - \$500.00	1 / each	\$500.00		Υ			
		Supplier Product Code: Supplier Notes:						
envirowaste services group, Inc	First Offer - \$1,250.00	1 / each	\$1,250.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$1,280.00	1 / each	\$1,280.00		Υ			
		Supplier Product Code: Supplier Notes:						

F-4568-18-RL01-22 GROUP A - WET WELLS: N-15									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	1 / each	\$485.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Hinterland Group, Inc. [Ad]	First Offer - \$500.00	1 / each	\$500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
envirowaste services group, Inc	First Offer - \$995.00	1 / each	\$995.00		Υ				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

F-4568-18-RL01-23 GROUP A - WET WELLS: N-16							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	1 / each	\$485.00		Υ		

bid #F-4568-18-RL -Removal and Disposal of

Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Hinterland Group, Inc. [Ad]	First Offer - \$500.00	1 / each	\$500.00	Υ	
		Supplier Product Code: Supplier Notes:			
envirowaste services group, Inc	First Offer - \$995.00	1 / each	\$995.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

F-4568-18-RL01-24 GROUP A - WET WELLS: W-6								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Hinterland Group, Inc. [Ad]	First Offer - \$450.00	1 / each	\$450.00		Υ			
		Supplier Product Code: Supplier Notes:						
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	1 / each	\$485.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
envirowaste services group, Inc	First Offer - \$1,250.00	1 / each	\$1,250.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

F-4568-18-RL01-25 GROUP A - WET WELLS: W-14									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	1 / each	\$485.00		Υ				
		Supplier Product Code: Supplier Notes:							
Hinterland Group, Inc. [Ad]	First Offer - \$600.00	1 / each	\$600.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
envirowaste services group, Inc	First Offer - \$1,250.00	1 / each	\$1,250.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

F-4568-18-RL01-26 GROUP A - WET WELLS: W-15									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	1 / each	\$485.00		Υ				
		Supplier Product Code: Supplier Notes:							
Hinterland Group, Inc. [Ad]	First Offer - \$500.00	1 / each	\$500.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
envirowaste services group, Inc	First Offer - \$1,250.00	1 / each	\$1,250.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

F-4568-18-RL01-27 GROUP A - WET WELLS: W-16									
Supplier Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Hinterland Group, Inc. [Ad]	First Offer - \$450.00	1 / each	\$450.00		Υ				
		Supplier Product Code: Supplier Notes:							
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	1 / each	\$485.00		Υ				
		Supplier Product Code: Supplier Notes:							
envirowaste services group, Inc	First Offer - \$1,250.00	1 / each	\$1,250.00		Υ				
Product Code:		Supplier Product C	ode:						

Agency Notes: Supplier Notes:

F-4568-18-RL01-28 GROUP A - WET WELLS: W-18									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Hinterland Group, Inc. [Ad]	First Offer - \$450.00	1 / each	\$450.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$970.00	1 / each	\$970.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
envirowaste services group, Inc	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ				
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							

F-4568-18-RL01-29 GROUP A - WET WELLS: W-26									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Hinterland Group, Inc. [Ad]	First Offer - \$450.00	1 / each	\$450.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$485.00	1 / each	\$485.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
envirowaste services group, Inc	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

F-4568-18-RL02-01 GROUP B - WWTP - SCUM BOXES, PIG LINES AND SPILLS: Scum Boxes Rag Removal							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Hinterland Group, Inc. [Ad]	First Offer - \$175.00	50 / hour	\$8,750.00		Υ		
		Supplier Product Code: Supplier Notes:					
envirowaste services group, Inc	First Offer - \$195.00	50 / hour	\$9,750.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$640.00	50 / hour	\$32,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

F-4568-18-RL02-02 GROUP B - WWTP - SCUM BOXES, PIG LINES AND SPILLS: Pig Lines									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
envirowaste services group, Inc	First Offer - \$195.00	50 / hour	\$9,750.00		Υ				
		Supplier Product Code: Supplier Notes:							
Hinterland Group, Inc. [Ad]	First Offer - \$225.00	50 / hour	\$11,250.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$640.00	50 / hour	\$32,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

F-4568-18-RL02-03 GROUP B - WWTP - SCUM BOXES, PIG LINES AND SPILLS: Clean-up Spills								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
envirowaste services group, Inc	First Offer - \$195.00	20 / hour	\$3,900.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

Hinterland Group, Inc. [Ad]	First Offer - \$250.00	20 / hour	\$5,000.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$640.00	20 / hour	\$12,800.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

F-4568-18-RL03-01	GROUP C - WWTP	- SAND FILTERS AN	D W-14 (CONFINED S	SPACES): Sand Filters	s, W-14 (0	Confined
Space)						

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
envirowaste services group, Inc	First Offer - \$275.00	60 / hour	\$16,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Hinterland Group, Inc. [Ad]	First Offer - \$300.00	60 / hour	\$18,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$640.00	60 / hour	\$38,400.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

## F-4568-18-RL--04-01 GROUP D - ADDITIONAL SERVICES - SOFT DIGGING OF UNDERGROUND VALVES AND PIPELINES: Additional Labor Cost

PIPELINES. Additional Labor Cost					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$50.00	40 / hour	\$2,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
envirowaste services group, Inc	First Offer - \$195.00	40 / hour	\$7,800.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Hinterland Group, Inc. [Ad]	First Offer - \$250.00	40 / hour	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

## F-4568-18-RL--04-02 GROUP D - ADDITIONAL SERVICES - SOFT DIGGING OF UNDERGROUND VALVES AND PIPELINES: Additional Load Disposal Cost

PIPELINES: Additional Load Disposal Cost					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Hinterland Group, Inc. [Ad]	First Offer - \$250.00	12 / each	\$3,000.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
JOHNSON ENVIRONMENTAL SERVICES	First Offer - \$480.00	12 / each	\$5,760.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
envirowaste services group, Inc	First Offer - \$750.00	12 / each	\$9,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

## **Supplier Totals**

f	Hinterland Group, Inc. [Ad]	\$73,500.00	(35/35 items)	)

Bid Contact Daniel Duke III Address 5580 S.R. 524

info@hinterlandgroup.com Cocoa, FL 32926

Ph 321-633-7066 Fax 561-640-3504

Supplier Code 32883

Agency Notes: Supplier Notes: Head Attch:

novai and Dispo	odi oi				
				ĺ	9
f envirowa	aste services group, Inc		\$100,875.00	(35/35 items)	
Bid Contact	julio fojon eddy.barba@envirowastesg.com Ph 305-637-9665	Address	18001 old cuti #554 miami, FL 331		
Agency No	tes:	Supplier	Notes:		Head Attch:
f JOHNSO	N ENVIRONMENTAL SERVICES		\$147,494.0	0 (35/35 iter	ms)
Bid Contact	ALBERT PANZARELLA alpanz@johnsones.com Ph 954-776-5931 Fax 954-776-5955	Address	4700 POWERL FORT LAUDER		19
Agency No	tes:	Supplier	Notes:		Head Attch:

<sup>\*\*</sup> All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.